—— T KL

— LR QTR KAL)

PG R AR C

9.85

(s¥)€z0z
(v¥)z202
(€Y)TZ0Z
(24)0202
(T¥)6T07
(0€H)8T0Z
(62H) LTOT
(82H)9T0Z 1
(LTH)STOZ It
(92H) PTOZ 3
(STH) €TOT
(vew)eroe I
(£2H) TTOC B
(zzH)oT0z %
(TZH) 6007 X
(0ZH) 8002
(6TH) L0074y
(8TH)900Z fai
(LTH)S00T fa
(9TH) $00T
(STH) €002
(VTH) 2002
(ETH) T00Z
(ZTH) 0002
(TTH)666T
(OTH)866T
(6H) 66T
(8H)966T
(LH)S66T
(9H) ¥66T
(SH) €661
(VH)Z66T
(EH)T66T
(TH)066T
(TH)686T

EOF,

KEERMREICREL-HFPESEOT—4I

WRBEDOKEERBELTLET,
AT -0.14m HIE%:—0.32m

—— AT KL

Fa R R g C

7K

= Bk E

(8)

HZrdpEcoe

ERA%E=2 44004

HoOTET0T

HedzEezoT

H8dy€c0C

H L3dz€T0T

EEE:A34v4

EEE2X4{4

Hvdzezor

Hedyecoc

Hdzezor

HT3ec0e



